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4-. v S is the basic unit of elassiﬁeation and a taxonomic rank ’
A) Species. . B) Genes.
0 | Cle.ss. ' . | o | D) >Orde‘r:'
i 5. ‘Which of the followmg ammals is now extinct ?
A) Tasmaman tlger - B) Tasmaman dev11
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" PartA .
R A_nstqerall ques'ti'ons.
Each question carries 1 mark.

Choose the correct answer from the choices glven

1. Whlch among the followmg is the main dlﬁ'erence between Chondnchthytes and Ostelchthytes ?

A) Endoskeleton compos1t10n . B) Fins.
C) Typeofblood. ’ D) Type of jaws.
2. — - ‘ is an example of an ex-sit.u conservation. |
A) Secred‘ groves. A, _ B) Wildlife sanctuary..
C) Seedbank. D) Nationalpark.

3. ‘Global warming can significantly be coﬁtroﬂed by
&) Increasing solid waste.
Bj Reducing vs}ater .vwastage.“ _ .
C.) 'Bur'ning‘ humen-generated waste.

D) Reduci.ng-fos'sil fuel consumption..

".C) - Pademelon. N D) Quol
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6. The hot spots of biodiversity are characterized bsr — o
- A) Low endemicity aﬁd low threat of extinction. :
B) ‘Low endemicity and high threat of extinction.
C) Hig’h endemicity and low threat of extinction.’ | |
D) High endemicity and high threat of extinction.
7. Which qf these is related to. Ex-.s_i_tu conservation of threatened plants and animalé :
A) , Biodiveréity hotspots. E , ',B‘)‘ Wildlife safari parks. |
C) 'Alha-zon fainfox:esf. ‘ : | | D) Himalayan region. ‘

8. Name the site where digestion of proteins occurs :

A) Pancreas. B .Rectum. - | ' -
C) Liver. : D) ' Teum. ’ |
9. Nightbiindneés apd Xérophthahnia are :gépera]lyvcoxvlditions associated with the deﬁéiency of,.which" .
~ vitamin? - ' ’ ‘ : o )
A) Vitamin B. ~ B) VitaminK.
©) VitaminB2. D) Vitamin A.

10. Where are the parotid glands located ? -
A) ' Below the stomach.; |
| B) .Behin‘d and abovg the pancreas.v
C) Below and in front <;f the ear canal :'
'D) 'Undémeath the armpits . |
11. The max1mum amount ‘of carbdn dioxide m the human body is transpdrted as:
- A) Bit:arboﬁate. : - B) Carbide. |

C) Amylase. o - D) None of the above.

s c.



13,

14.

15,

16.

17.

Altitude siclrness is typlcally caused due to :
A) ,The partial pressure of oxygen. |
B) igc,reased-levels of CO, in blood.
C) - Cold temperatures. -
'D)“ None of the above
Hypopnea is a condition where :
A) The alrway becomes partlally obstructed.
B) The blood does not clot properly » ‘
C) The lungs ¢cannot ehmmate the excess carbon d10x1de from the body

D) The blood oxygen levels are abnormally low

The lungs are protected by : :

A) Sternum. | “B) Rib cage.

Q) -Baekborie. ' . | , . _ ]_))‘ All of the above.
‘The prlmary function of the cerebrospinal. fluid is to :

_'A) Protect the brain.
'B) Provide nutrlents to the surroundmg tissues.
C) Remove waste products |
» D) .Allofthe above | _
Whlch of the following organs is known as the graveyard” of RBCs ?
A) Spleen | ) ’ v B) Kidney. . -
C) Live. = D) Gallbladder.
Single dri.niferob’s’ tubu,ledoes not"oon,tain: R ; ' |
:A) Loop of Henle, o B) Colbect‘ing duct.

- C) Distal convoluted tubule. D) Bowman’s capsule.
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' One of the reasons why some people cough after eating a meal may be due to the improper movement

of

A) La'rynx." L | ‘ B) Diaphragm. |
€) Neck. ' D) Epiglottis. -
The balanc_ing organ of the ear is :' - | |
| A) Organ of Corti. - B) Vestibular apparatus. .
_>C) ‘Tect01.'ial membrane' .~ D) Cochlea. °
Glycolys1s is the conversion of :
"A) Fructose into phosphoenolpyruvate
| B) Fructose into pyruvate. |
C) Glucose into phospiioenolbyruvdte.
D) Glucose into pyruvate. _
The EMP pathway in eukarybfes usually takes place in :
A) Nucleus. S B) Lysosome.
) Golg1 appﬁétus. ' D) :Cytbsol.

Which of the following is used by cells to interact with'oth_‘er cellé ?

A) Cell tubules. .. B) Celljunctions.
C) Cell adhesions. D) Celldetectors.
Which of the followmg cell organelle is responsible for transportmg, modlfymg, and packaging -
. proteins and- hplds ? , |
A) Mitochondria. B E_ndoblasmic Reticulum.
C) Golgi Complex. - D) DNA. ' |

DNA is stored in which of the followmg cell organelle 2.

A) Cell wall. 7 ' B) Cell Membrane.
C) Nucleus. : . D) ‘Cytoplasm.
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A cell organelle that 1s present in animal cells but not pfesent,,m plant~cell.sAis ?
- A)  Cytoplasm. : : B) Centmsome »
C) Mitochondrial D) Golg1 complex

Which of the followmg cells release insulin when glucose levels elevate in the body ?
A) Gammacells. B) Beta cells. |
C) Alphacells. D) Zetacells.

' Which of the following cells do not lack the ability to divide ? |

&) Redbloodcells. B) Musclecells.
(0)) Skm cells. B N o D) .N_er've ceils. ’
Which of the foilowing paﬁ'; of a neuron receives information from other‘neurons. ? -
A) MYeli‘njsheath.‘ . B) Dendrites. o o Lo
) Cellbody. D) Asxon. E
Which of the following is nof-a compoﬂenp of cell membi‘anes ?
A) Phoéphofriélyceﬁde’s. T . B) Choleéterol.
Q) S'phingolipids. 4 o D) Phospho;iiglyce_rides.
Lyéosomes afe ‘produce»d»‘by which of_' the following celi- organelleS ? ’
A) Mitochondria. . - _- - B) .En‘doplasmic Reticulum,
© C) GolgiComplex. .~ D) DNA.
What is the net gain of ATP during the conVersion of glucosé to pyﬁvam ?-
‘A)“2'A’71;‘P; R B) 4ATP. -
.0 6ATP. - D) 1ATP+1GIP.

: Kreb’s cycle begins with the creation of six carbon compounds asa result ofa reactlon between two

carbon compounds namel :
A). “Succinic Acid and pyruvic ac1d
B) Acetyl CoA and Oxaloacetic Acid.
'©) Fumaric acid and Pyruvic acid.

D) ‘Maleic,acid and acetyl CoA., . ) o : _
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The process of cell respiration is carried out by

A) | Mitochondria. .. : B) Chloroplast.

C) Nucleus. ‘ . D) None of the above.
ELISAis:

A) Usmg radlolabelled second antlbody

B) Usage of RBCs.

C) Using complement—medlated cell lysis. |

D) Addition of substrate that is converted into a coloured end product

Plasmids are used as cloning vectors for which of the following reasons ?

A) Can be multiplied in culture. | |
* B) Sélf-f@lication in bacterial cells. - ’
| C) Can be multiplied in 1abofatoﬁes with the help of enzymes .

VD)‘ . Replicate freely outside bactefiai cells.

The vaccines prepa'_red through recombinant DNA technoiogy are :

A) Third generation vaccines. B) First-generation vaccihes.
C) Second-generation vaccines. D) None. o

RNA i_ntefference helpe'io :
‘A) Cell proliferation. | , B) Micropropagation. |

C) Celldefence. - _ S D) Cell differentiation.
The Golden Rice variety is rich in : | e
'A) VitaminC. "~ B) B-carotene and ferritin.
C) " Biotin. Db  Lysine.
Which bactenum is used in the production of msulm by genetic engmeermg ?
A) Saccharomyces . By Rhizobium. |
'C) Escherichia. D) Mycobacterium.



40.
41.

42.

"~ 43.

44.
45.

46.

The DNA fragments have sﬁcky ends due 'to,: | |
A) 'En-donuclease.. } | : B)‘ U_nﬁaired bases.
’ C) Calcium ioﬁs. 3 o ‘ A D) Free methylatioﬁ
Which is a genetically modified crop-? |
A) Btcotton. - 'B) Bt-brinjal.
- C) Golden i'ice., _D) _ All the above.
Cabillary hydrosl,;atic preésﬁré durmg filtration is built in the glomerulus as:
A Size of Bowman's capsule is signiﬁca.ntly largé; |
- B) An afferent‘arteriole' is narrow compared to efferent.
C) ‘Bowman’_s capsule is cup-shaped.r‘
D) An efferent arteriole is narrow compai'e(i to afferent. |
This happens if the proximal convoluted tubule is removed from' nephron :
A) Urine s not formed. - |
" B)  Quality and quantity of urine is unaffected.
C) Urine is_mbre cbncentréted.
D) Urineis more diluted. - -
A decrease in blood pi'ess_ure/volume- will not cause the release of:
'A) ADH. " B) Renin.
C) Atrial natfiu;'etic factor. .~ D) - Aldosterone.
This :is a ;:ommon characteristic observed in both humén. beings'and adult ﬁ'ogs D
Af Ureotelic mode of excretion, B) Ihternal fertilization.
C) Nucleated RBCs ) D) Foul_:.-chamberéd heéﬁ.

The walls of the ventricles possess thick muscular projectib'ns, they are known as : -

A) .anus arteriosus. ‘ ~ B) Truncus arterosus.

C) Chordae tendineae. . D) Columnac carneae.
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47. Bundle of HIS isa 'network of : . |
A) -.Mu‘scle f'ibrespresent only in the ventricle wall. B
B) Nerve ﬁbres distributed mventncles ‘ | o ‘ -
C) Muscle ﬁbres dlstnbuted throughout the heart walls |

D) Nerve ﬁbres found throughout the heart .

48. The trlcuspld valve is present between o S o , V S

A) Ventrlcle and pulmonary artery
B) Ventricle and aorta.
‘ C) Left auncle and leﬁ; ventncle _
D) " Right auncle and nght ventncle
49. Wh1ch of the followmg cells are found in liver ?

A) Kupffer Cells. o B) Neurons. 7 .
C) Sperm Cells. | ‘ . lD)b None of the above. -
- 50 .‘A‘“Glisson’sv Capsules” is seen in ——— ?
~A) Kidneys. 7 N B) Pancreas.
O) Liver. D) Stomach o
» | | . (5l) x 1 = 50 marks)
 PartB " '

Answer any ten questions.
“Each questwn carries 5 marks.

{

-51. Explain the role of cortical granules in fertlhzatlon and add note on spec1es speclﬁclty of fert1hzat10n .

52_. Describe dlﬁ'erent phases of cell cycle
53. ExplaJn the process of electrophores1s and its applicatibns.

"~ 54. Define gene therapy. Explain ex-vivo-and in-vivo methods of gene therapy.

'55. List the data collection tools used in quantitative designs and write in detail about questi('mnaire ‘

56. What are Antlbodles ? Explain the structure of antibody molecules and comment on classes and
vsubclasses of mmunoglobuhns '




57.

58.
59.

- 60..

" ... 6l.
6.
63.
64,

' Explam Lotka-voltera equations and its applications in advance ecological theory.

Describe'the p‘rocess of translation

. Explain the structure of' protems and thhllght the factors that affect the stablhty of the protems

Dlscuss vanous data collection methods with smtable examples

Write in detall about the essentlal components of good’ research proposal and What are the factors '
affectmg the research design ? . :

What is scientific research and write in brief about ethics involved ?

Describe the necessity and impbrtance of wildlife consei'vation

Explam the role of bees in pollination. Descnbe how bees are structurally and behavxourally efﬁment
pollmators

(10 x 5= 50 marks)




